Installation instruction of engine guard

SUZUKI DL1000 V-STROM (02:09) |

]

I| l
A)ver should be installed only by a qualified person.
Attention! When assembling, the motorcycle can not be supported on the side stand.

Set up engine guard freely during installation and turn it at the end.

1. Uninstall M8 screw from the right side (Fig. 1 pkt. 1)

2. Uninstall M12 screw holding side stand at the bottom (Fig. 2 pkt. 2)

3. Install the bar holding the engine guard in the previously disassembled screws, using

longer screws M10 / 30mm, M8 / 50mm form the set. (Fig. 3 pkt. 3i4). _ \‘*‘ ¥ =
4. Install on the piping adaptive plate using "U" bracket (rys 4). - — -
5. Install engine guard to the adapter plate by screws M8 / 20mm (Fig. 5), while the rear Flglll’e 2 B e
ortion of the previously installed bar. oy
Q previously B .,_ pkt 2 W
i i |
Figure 3 i

P,




INSTRUKCJA MONTAZOWA PLYTY POD SILNIK

SUZUKI DL 1000 V-STROM (02:09)
D | |

ﬂyta powinna by¢ zakfadana tylko i wytacznie przez osobe wykwalifikowana.
UWAGA! Podczas montazu motocykl nie moze by¢ podparty na stopce bocznej.

Ptyte nalezy zamontowa¢ swobodnie dopiero na koncu przykrecié¢ docelowo.

1. Zdemontowac z prawej strony sSrube M8 (rys 1 pkt. 1)

2. Zdemontowac od dotu srube M12 trzymajaca stope boczng (rys 2 pkt. 2)

3. Zamontowac poprzeczke trzymajaca ptyte w miejscach uprzednio zdemontowanych srub,

wykorzystujgc $ruby dtuzsze z zestawu M10/30mm, M8/50mm (rys 3 pkt. 3i4 ).

4. Zamontowac na orurowanie ptyte adaptacyjng wykorzystujgc obejmy typu ,U” (rys 4).

5. Zamontowac ptyte silnikowa do ptyty adaptacyjnej za pomocg $Srub M8/20mm (rys5),
Qtomiast tylnig czes$¢ do uprzednio zamontowanej poprzeczki.

]

~




